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5 In this question you must show detailed reasoning.

 Using the substitution u x 1= + , find the value of the positive integer c such that 
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6 In this question you must show detailed reasoning.

 Solve the equation tan cotx x3 2- =  for values of x  in the interval °x0 360° G G . [5]

7 Prove that sin tan cos8 4 8 1i i i+ = . [3]

8 In this question you must show detailed reasoning.

 (a) Express cos sinx x3+  in the form ( )sinR x a+ , where R 02  and 0 2
11 1 ra . Give the 

values of R and a  in exact form. [4]

 (b) Hence solve the equation ( )cos sinx x3 1= -  for values of x  in the interval xG Gr r- . 
Give the roots of this equation in exact form. [4]




